Panasonic

INDUSTRY

Universal Sensor Mounting Stand
MS'AJ SERIES

2022.7 * The contents of this catalog are as of October 2017.
. For the latest information, please visit our company website.



Universal Sensor Mounting Stand

MS-AJ series

Easy adjustment of sensing position

Even after mounting a sensor, you can adjust the sensor
easily.

Flexible height adjustment Flexible angle adjustment

Swivel: 360° revolution

150 mm 5.906 in  (Note)

approx.

Y

Note: The elevation angle is +20° for
MS-AJo-F (assembly for fiber).

Eight types of mounting stand enable installation of sensors,
fibers, and reflectors at any desired position

Mountable on vertical or horizontal plane

Mounting on horizontal plane

MS-AJ1(-0)

Mounting on vertical plane
MS-AJ2(-0) S

Conveyor line

Mountable on
aluminum frame

Note: Do not thread the fiber
cable into the pipe in
case of MS-AJo-F
(assembly for fiber).

MS-AJo (Basic assembly) MS-AJo-A (Lateral arm assembly)

It is used to mount
CX-400/440, LS-400, EX-40
and EZ-10 series sensors,
and the RF-210 reflector.

A lateral arm is added to the
MS-AJo basic assembly.
Sensing is possible from
above an assembly line.

MS-AJ1 MS-AJ2 MS-AJ1-A  MS-AJ2-A

MS-AJo-M (Assembly for reflector)

The MS-AJo basic assembly
is modified to mount a
reflector. It can be used for
RF-220 and RF-230 reflector.

o

MS-AJ1-M  MS-AJ2-M

MS-AJc-F (Assembly for fiber)

The sensor mounting bracket
of MS-AJo-A is replaced with
a fiber mounting bracket. It can
be used with FD-L51, FD-L52,
FD-L53, FD-L54 and M3, M4
or M6 threaded head fiber.

MS-AJ1-F MS-AJ2-F



Il STRUCTURE

Universal Sensor Mounting Stand MS-AJ SERIES

MS-AJ1, MS-AJ2, MS-AJ1-M, MS-AJ2-M
| MS-AJ1-M / MS-AJ2-M (assembly |
'for reflector) include parts enclosed
: by the dotted line in place of &
1sensor mounting bracket.

Note: The cable guide (® in the figure) is not included in the assembly for
reflector (MS-AJo-M).

MS-AJ1-A, MS-AJ2-A, MS-AJ1-F, MS-AJ2-F

:MS-AJ1-F / MS-AJ2-F(assembly for fiber) include parts :
renclosed by the dotted line in place of (§)sensor mounting

ibracket.
| T

|
[

The MS-AJ20o has a different
base.

| % (MS-AJ2B)

Note: Adjust the arm joint (D in the figure) by loosening the M4 (length
12 mm 0.472 in) hexagon-socket-head bolts (® in the figure) in
two places. This way you can adjust the arm joint more smoothly.

Type Assembly sets Components
MS-AJ1 | MS-AJ1-A |MS-AJ1-M | MS-AJ1-F | MS-AJS | MS-AJR | MS-AJ-R1| MS-AJD | MS-FD-1
Model N MS-AJ2 | MS-AJ2-A | MS-AJ2-M | MS-AJ2-F |/Sensor ||[Reflector)|[Reflector || (Fiber Fiber XS-AJII mg'ﬁﬂg MS-AJG M?_\-AJP
ocelie (Basic ) (Lalera\ arm) (Assemb\y ) (Assembly) mounting|||mounting ||| mounting|||mounting ||| mounting ( ".1: el ) Bace unit| (Cable guide) { P.rm J
No. |Designation assembly |\assembly /| or reflector /| \for fiber /|\unit unit bracket /|lunit bracket /|\U" (Ba=cli) (Fipe)
(D |Base for horizontal mounting (Accessory for MS-AJ10) 1 1 1 1 - - - - - 1 - -
(2) |Base for vertical mounting (Accessory for MS-AJ20) 1 1 1 1 - - - - - 1 - -
rm (Pipe - - - - - -
Arm (Pi 1 2 1 2 1
@ _|Attachment 1 1 1 1 1 1 - 1 - - -
@ Sensor mounting bracket 1 1 - - 1 - = - = - = -
(® |Cable guide 1 2 - 2 - - - - - - -
@ |Arm joint - 1 - 1 - - - - 1 - - -
M4 (length 12 mm 0.472 in) hexagon- _ — — _
socket-head bolt (Drilube applied product) 1 3 1 3 1 1 1 2
® M4 (length 15 mm 0.591in) hexagon-socket- 1 1 1 1 _ _ _ 1 _
head bolt (Drilube applied product)
M4 (length 22 mm 0.866 in) _ — _ _
hexagon-socket-head bolt 1 1 1 1 1 1 1
nut 5 5 - - -
D [m4 3 3 2 2 2 2 1
spring washer - - - - -
) |M4 spri h 1 1 1 1 1 1 1
ain washer - - -
39 [M4 plai h 1 1 1 1 1 1 1
M3 (length 14 mm 0.551 in) screw with washers _ _ _ _ _ _ _ _ _
for CX-400/440, LS-400 and EZ-10 series 2 2 2
@ M3 (length 18 mm 0.709 in) screw with 2 2 _ _ 2 _ _ _ _ _ _ _
washers for EQ-20 series (Note 2)
E Aucxiliary mounting plate for EQ-20 series (Note 2) 1 1 - - 1 - - - - - - -
E M3 (length 16 mm 0.630 in) screw with washers for EX-40 series 2 2 - 2 - - - - -
Auxiliary mounting plate for EX-40 series 1 1 - - 1 - - - - - -
Reflector mounting bracket - - 1 - - 1 1 - - - -
20) | M3 (length 8 mm 0.315 in) screw with washers for RF-220 - - 2 - 2 2 - - - - -
2 length 8 mm 0.315 in) screw with washers for RF-: - - - - - - - - -
M4 (length 8 mm 0.3 ith washers for RF-230 2 2 2
2) _|Fiber mounting bracket - - - 1 - - - 1 = — = -

Notes: 1) The numbers shown in the table above indicate the quantities of the respective parts. 2) The EQ-20 series were discontinued in December 2005.

Il ORDER GUIDE

Individual components are also available as follows

Type Appearance Model No. ’:\e%%lggffnzegggrr‘ Designation Appearance Model No.
Horizolntal MS-AJ1 Esi?sor mounting MS-AJS
Basic mounting type . :
CX-400/440 series Reflector mountin
assembly | Vertical MS-AJ2 LS series anit 9 MS-AJR
mounting type | MS-AJ1 MS-AJ2 EQ-20 series (Note) ;
, Reflector mounting MS-AJ-R1
Horizontal MS-AJ1-A EX-40 series bracket "Ad-
Lateral arm | mounting type EZ-10 series Fiber mounting i
assembly | Vertical RF-210 (Reflector) unit MS-AJD
mounting type | MS-AJ1-A MS-AJ2-A | MS-AJ2-A Fiber mounting MS-FD-1
Horizontal
Assembly | mounting type MS-AJ1-M RF-220 (Reflector) Arm joint unit MS-AJL
for reflector | vertical RF-230 (Reflector) Base unit MS-AJ1B
mounting type | MS-AJ1-M Ms-AJ2-m | MS-AJ2-M g'onzontallrountmg type)
i ase uni
Horizontal FD-L51 (Fiber) (Vertical mounting type) MS-AJ2B
mounting type MS-AJ1-F  |FD-L52 (Fiber)
fiecu ) FD-L53 (Fiber) Cable guide MS-AJG
for fiber Vertical MS-AJ2-F FD-L54 (Fiber)
mounting type | MS-AJ1-F MS-AJ2-F TAder r’\lllesa’deﬁbgpsd M6 threaded Arm (Pipe) MS-AJP

Note: The EQ-20 series were discontinued in December 2005.




Universal Sensor Mounting Stand MS-AJ serRies

Il PRECAUTIONS FOR PROPER USE

Mounting

* To mount the universal sensor mounting stand on your
equipment, use M6 screws. The tightening torque should
be 2.0 Nm or less.

Mounting on horizontal plane  Mounting on vertical plane

M6 screws

o) Qonveyor
line

M6 screws

Adjustment

M4 hexagon-socket-

* Arm, attachment, base
head bolts

and arm joint can be
adjusted as shown by the
arrows in the right figure by
loosening the M4 hexagon-
socket-head bolts.

* After the adjustment, the
tightening torque of the M4
hexagon-socket-head bolts should be 1.2 Nm or less.

M4 hexagon-socket-
head bolts

Il DIMENSIONS (Unit: mm in)

Threading cable into pipe

* When the sensor is mounted on MS-AJo (basic
assembly) or on MS-AJc-A (lateral arm assembly), the
sensor cable can be threaded through the pipe. However,
do not thread the fiber cable through the pipe when a
fiber head is mounted on MS-AJo-F (assembly for fiber).

<Incorrect>

<Correct>

Others

* Do not apply excessive force on any part of the universal
sensor mounting stand.

* When using this stand, take care that excessive vibration
is not applied to the sensor.

The CAD data can be downloaded from our website.

MS-AJ1 Basic assembly
178
T
118 |12 203400130+ 28,20
0.465 0.472  mounting holes 10210
200.787 — t 2320126 x420.165 4
6 0.236 fi=|| <t [ 10079 elongated holes N
Cable guide A | + | 10039 AN \45
+——t .
(POM) 33 25 20 1850 v
1.299 0.984 0.787 $ 13078 h
. O?L}—%tfﬁ? L MY 45
20 1
Attachment 0787 0.039 M‘ﬁ;;gin
Nylon 6 :
(Ny ) . socket-head
Sensor mounting bracket bolt
(147) [Stainless steel (SUS304)]

(5.787) (Note)
210 20.394 pipe
583) " [Stainless steel (SUS304)]

%
E,;/

-=
%
XS]
[y .
oo
l»:17.
i
o
W oo
[6,]
o
oo _
P

4 <
,% ; 0.709 :1
20
47047§7 Base
1.772 (PA)
F .
(——1 Two M3 (length 14 mm 0.551 in) screws with
2_5'5 7). N washers, two M3 (length 16 mm 0.630 in) screws

with washers, two M3 (length 18 mm 0.709 in)
screws with washers, one auxiliary mounting plate
for EQ-20 series and one auxiliary mounting plate
for EX-40 series are attached.

2-96.6 0.260 mounting holes

Note: The dimensions in the brackets indicate the adjustable range of the
movable part.

MS-AJ2 Basic assembly
—  |=17.80.701 28
1.8__ 12 2-¢3.4 90.134 1902
0.465 0.472 mounting holes :
200.787 —= 2320.126x4.20.165 N
60.236 |||l | '797° elongated holes bia
Cable guide Jel\ bt [l
Povy 4'_ﬁi
(POM) 3 25 20 T—1%.30
1.299 (.984 0.787 AN P il
Attachment 0787 0039 420.165
(Nylon 6) M4 hexagon-
(147 Sensor mounting bracket ts)(;ﬁket—head
(5.787) (Note) [Stainless steel (SUS304)]
(210) 210 20.394 pipe
(8.268) I [Stainless steel (SUS304)]
MM 2-26.6 0.260 &
i ‘EE mounting holes N
36.5) _t AEIE 14
(1.437) 20
y 0.787 (
1 .32 ] Base 245\,
1.260 (PA) 0.965
e 46 ]
1811 Two M3 (length 14 mm 0.551 in) screws with
*‘ 20 ‘* washers, two M3 (length 16 mm 0.630 in) screws
S B with washers, two M3 (length 18 mm 0.709 in)
31 § é‘g screws with washers, one auxiliary mounting plate
1220 a S for EQ-20 series and one auxiliary mounting plate
t 1?5 8? for EX-40 series are attached.
0.591 0.315
Note: The dimensions in the brackets indicate the adjustable range of the
movable part.



Universal Sensor Mounting Stand MS-AJ SERIES

. DIMENSIONS (Unlt mm |n) The CAD data can be downloaded from our website.
MS-AJ1 MS-AJ2 Basic assembly
Assembly dimensions with CX-400/440 series, Assembly dimensions with RF-210 (Reflector)
LS-400 series, EZ-10 series (Mounting part only)
(Mounting part only) . 248
2320913 e |99 184
(Ez10:240945 7 7 0359 ‘ 0724 518 20
1.8 (B2A40. 18 0.709) 0787 gl |l [ to07e ™ 1252 forerf™
0.465 ‘ "% 20 0.236 o
20 t2t0.079 |1.102]|0 | o
0.787 61, "W t <2755 B 333 25 R\
0.236 [T L 1063 EERE | Y/
25.41.000 —+ L J <
i (EZ10:250.984) 2-M3 (length 0.165

14 mm 0.551 in)

2-M3 (length 14 mm 0.551 in) screws with washers

screws with washers
Center of sensing

Assembly dimensions with EX-40 series
(Mounting part only)

244
1.8 (1)7669
0.465 -
20 12 —~,28 4 20
0.787 t0.079 1.102 10787,
Centerof | 27 |
0.236 *sensing 1.083T]

+L->F‘ 45

X/ 45°
2-M3 (length 16 mm 0.630 in) g
screws with washers Auxiliary mounting 0.165

plate for EX-40 series

MS-AJ1-M Assembly for reflector MS-AJ2-M Assembly for reflector

18 422 M4 hexagon- 18- $22 . M4 hexagon-
04657 147 2-M4 socket-head bolt 0465 | [4%6] ;mg socket—heta;? bolt
0669 2-M3 t2t0. 0689 -| =
L T e F
T3 25 40 50
250984 401575 501969 [0.984 1.575 1.969
LU 34 | At b i
Attachment J Vs Attachment J 2
2 20 (Nylon 6) 28
) (Nylon 6) 110 0.787 (143.5)( ) 1.102 0.787
(5.650) (Note
5.787) (N 200 .
(208)( ) (Note) 210 00.394 pipe (;873) 910 00.394 pipe
(8.189) [Stainless steel (SUS304)] [Stainless steel (SUS304)]
1ilis e L SFre
2] \‘ 2 ] ¥ 206600260 | N
i Base f %ﬁ ) i mounting holes \‘
4 i (2 (40) iy i 127100394
R N I = (157520 RIH RS s
'; 1102 \W/ i) 017%9 i | o_7$37[L/[J g . & V“
T ' l._32_]| |\ Base 245
f to?&j‘g f L1 260 | (Pa) 0.965
45 ] 0315 1811
i 1.772 020 .
255 4 [GAlISH Two M3 (length 8 mm 0.315 in) 1 0.787 Two M3 (length 8 mm 0.315 in)
1.004 [UZa))ifaN screws with washers and two 31 4 Q - screws with washers and two M4
Bl e o M4 (length 8 mm 0.315 in) 1220 ; ‘ (length 8 mm 0.315 in) screws
0394 1.260 screws with washers are ] with washers are attached.
- i 5 8
2-¢6.6 ¢0.260 mounting holes attached. 0.591 0315
Note: The dimensions in the brackets indicate the adjustable range of the Note: The dimensions in the brackets indicate the adjustable range of the

movable part. movable part.



Universal Sensor Mounting Stand MS-AJ SERIES

The CAD data can be downloaded from our website.

Assembly for reflector

Assembly dimensions with RF-230 (Reflector)
(Mounting part only)

[l DIMENSIONS (Unit: mm in)

MS-AJ1-M MS-AJ2-M
Assembly dimensions with RF-220 (Reflector)

(Mounting part only)
71.3

277
1.8 | 33 M4 hexagon-socket- 1.8 M4 hexagon-socket-
0.485 1296 ] head bolt 0.465 head bolt
0.787 |- t210079
I T8
N /e
50 L) Y
1.969 % #/4*50

2-M3 (length 8 mm 0.315 in)

screws with washers 2-M4 (length 8 mm 0.315 in)

screws with washers

Lateral arm assembly

MS-AJ1-A

210

16.5
0.650

6 0.236 ]

Cable guide
(POM)

(218)
(8.583)

28.45
1.120

0.472

8.268
(134)(5.276) (Note 1)
4.2 410 00.394 pipe
0165 /Stless sl (SUS304]

- pley

e

l._(16.5)
(0.650)

(147)
(5.787)
(Note 1)

‘ % Sensor mounting bracket
[Stainless steel (SUS304)]
(Note 2) .
2-03.4 00,134 -Amoint,
mounting holes  (Nylon 6)

210 ©0.394 pipe

oo | 2o

33 1.299

2-320126x4.20.165
elongated holes

ok
‘4 }

‘!‘,“ ‘,?9

[Stainless steel (SUS304)]

20|,

K g -~ (203.5)
0515 3-1587 (8.012) Two M3 (Iengthgé(t mm 0.1551 in) screws \)Nith
1.772 washers, two M3 (length 16 mm 0.630 in) screws
Zgﬁ %/ K= (E,:s)e with washers, two M3 (length 18 mm 0.709 in)
1.004 E%ay;ifaN screws with washers, one auxiliary mounting plate
f 1*0 REZR for EQ-20 series and one auxiliary mounting plate
0394 1260 for EX-40 series are attached.

2-26.6 ©0.260 mounting holes’

Notes: 1) The dimensions in the brackets indicate the adjustable range of the movable part.
2) Refer to MS-AJ1 / MS-AJ2 (basic assembly) for the assembly diagram with the sensor mounting bracket, sensor or reflector.

Lateral arm assembly

MS-AJ2-A
210
8.268

[« (134)(5.276) (Note1)
4.2 910 00.394 pipe

e 0-165 /[Stinless el (SUS304)

‘ Sensor mounting bracket
22 [Stainless steel (SUS304)] >
(Note 2

203400134 Aot
mounting holes ~ (Nylon 6)

(Note 1) /232026 x 420165 210.20-394 pipe

elongated holes [Stainless steel (SUS304)]

g Z%A

A

Two M3 (length 14 mm 0.551 in) screws with
washers, two M3 (length 16 mm 0.630 in) screws
with washers, two M3 (length 18 mm 0.709 in)
screws with washers, one auxiliary mounting plate
for EQ-20 series and one auxiliary mounting plate
for EX-40 series are attached.

2-96.6 ©0.260
mounting holes

15 8
0.591 0.315
Notes: 1) The dimensions in the brackets indicate the adjustable range of the movable part.
2) Refer to MS-AJ1 / MS-AJ2 (basic assembly) for the assembly diagram with the sensor mounting bracket, sensor or reflector.



Universal Sensor Mounting Stand MS-AJ SERIES

. DIMENSIONS (Unlt mm |n) The CAD data can be downloaded from our website.

MS-AJ1-F MS-AJ1F  MS-AJ2-F

Fiber mounting bracket / MS-FD-1

016658 2845 ) 210
. 8.268
12 16.5
60236 [ [ 0472| [+ (134)5276) (Note)— (33) 082,
. X 210 £0.394 pipe g; 9,?:\
Cable guide > \  [Stainless steel (SUS304)] ;‘,g © iy
(POM) Fiber mounting bracket % ¥ VN X ?3299 leto
o [Stainless steel (SUS304)] 1 o|= | - t0.079
4-M3 50.5 0.020  Arm joint M3 threaded head fiber mounting hole
(147) mounting holes (Nylon 6) M4 threaded head fiber mounting hole
(218) (5N787) M6 threaded head fiber mounting hole
(8.583) (Note) [0310‘ zlo 394t piT((esussm)] 2-M3x050020 4M3x05 0.3220 R14 R0.551
ainless steel N 7 . 320126 ’
0.276 0‘3815 — AN ¥
4—{ @D
| — 13 L’°°{ TOW 2 o
0512 T 0.866
4T || SN S R
60.236-] 03t g5+l 1 8 LN 4%
90.354- 0217 0315 0457 057
1350531+ 3201261+ bstz
s 1 35 > =13 04 00.157
0,728 1378 55 0512 mounting hole
le— 22 2.165

Material: Stainless steel (SUS304)

2-96.6 £0.260 mounting holes

Assembly dimensions with FD-L51

Note: The dimensions in the brackets indicate the adjustable range of the M . I
movable part. (Mounting part only)
. 20, t2 " 20
MS-AJ2-F Assembly for fiber 0787}y 10.079 0.866
01&-81 2845 210
. 1.120 8.268
| 12 (33) (16.5)
0472 [~— (134)(5.276) (Note) [
60236 210 20.394 pipe 4‘ 1269) (0.650) 4@ | — 7
Cable guide ‘ > [Stainless steel (SUS304 )] & 3y T ﬁ'}ZJBS
030H LL‘ 415 g | S 415
(POM) i Fiber mounting brackel o -_% 1.634 25 an -2$56 1.6‘34l
o| [Stainless steel (SUS304)] :o|o | - | o [
Arm joint | E 5%
(147)  [4-M3x 0.50.020 (Nylon 6) 0.630 5 0.177
(5.787) | mounting holes 2] .8 1
(210) , 0.866°  0.315 0’827
8.2 210 20.394 pipe
[Stainless steel (SUS304)] Y
q?@’ P’%* Assembly dimensions with FD-FM2
b (Mounting part only)

20, t2 33
; ~o.7871™ t0.079 1299 22
! 3 0.866
1.2 ‘ (208.5)
1.811 2.96.6 20.260 (8:209) M6 x 0.75 0.030
420 mounting holes 73
i 0787 B
3 1 | £ ) \& Q ¢
o B T Wi Opposing faces100.3%4, 35 2.51565
15 8 49 o8 thickness 2 0.079 1.378 l
0.591 0.315 (1. 172)(2_1252))
Note: The dimensions in the brackets indicate the adjustable range of the ' 7
movable part. -l 22 5 (10)
0-8@ 0.197 23.5 (0.394)
-~ 285 20138 \Toothed lock washer 11 00.433

0.925

Note: The above diagram is in case of M6 threaded head fiber.



The applications described in the catalog are all intended for examples only. The purchase of our products described in the catalog shall not be
regarded as granting of a license to use our products in the described applications. We do NOT warrant that we have obtained some

intellectual properties, such as patent rights, with respect to such applications, or that the described applications may not infringe any
intellectual property rights, such as patent rights, of a third party.

Panasonic Panasonic Industry Co., Ltd.

Industrial Device Business Division

I N D U ST RY 7-1-1, Morofuku, Daito-shi, Osaka 574-0044, Japan

industrial.panasonic.com/ac/e/

© Panasonic Industry Co., Ltd. Specifications are subject to change V\_/ithou_t notice. 2022.7
Printed in Japan






